
Loosely install hardware at the locations shown.
   1.  3/8”x 3.5” Carriage Bolt at the rear.  
   2.  3/8”x 3” Carriage Bolt at the front.   
   3.  5/16”x 2.5” Buttonhead bolt w/ washers at the outer hole. 

Once all hardware is in place, tighten all fasteners. 
Torque 3/8" Bolts to 20ft lbs  and 5/16" bolts to 12ft lbs

LCA Skid Plate Kit
Fits: 07-09 FJ , 03-09 4Runner, 03-09 GX470 (non-kdss)

4WD MODELS ONLY

Install Lower Control Arm Skids using supplied hardware.

Note: some aftermarket (stock) replacement arms may
require drilling one or more holes

1
2

3


